
Page 1 of 10

Rear Protection Bar

MITSUBISHI MOTORS CORPORATION FIMZ350778 Issue: 0 - 18/03/24

LA0 Parts No. MZ350778

Accessory Part No:
MZ350762 Nudge Bar Polished
MZ350763 Nudge Bar BlackMZ350778 POWDER COAT

- Rear Protection Bar can only be fitted in combination with Genuine Mitsubishi Towbar.
   If Genuine Towbar is not present, do not proceed with installation of Rear Protection Bar.



Page 2 of 10

MITSUBISHI MOTORS CORPORATION Issue: 0 - 18/03/24FIMZ350778

Components Supplied

Rear Protection Bar 

Side Arm

Spacer Plate 2mm

Screw Hex HD M12x45

Flat Washer M12

Corrugated Tube 

Cable Tie 300mm

1

6

6

2

3

3

4 5 6 7

Socket Set (Metric) Torque Wrench

2

2

4

8 9
Sealing Foam A 2

Sealing Foam B

18mm Socket

Trim Removal Tool

Cutting Pliers

Hex Socket No 5.



Page 3 of 10

MITSUBISHI MOTORS CORPORATION Issue: 0 - 18/03/24FIMZ350778



Page 4 of 10

MITSUBISHI MOTORS CORPORATION Issue: 0 - 18/03/24FIMZ350778

2) Remove the rear bumper cover (LH/RH) (1) 
from the rear bumper assembly.

    Remove the Number Plate (2).

3) Remove the bolt (2 places each on the left and
right) shown on the left figure and remove the
rear bumper assembly from the vehicle.

Rear bumper assembly

Rear bumper cover (LH/RH)

The figure shows LH. 
RH is symmetrical.

Bolt

Rear bumper assembly

Front of 
the vehicle

- Refer to workshop manual how to 
remove vehicle parts.

- The removed bumper covers are not
necessary.

- Disconnect the Bumper harness.
- The removed bolts are not necessary.

A. Removal of vehicle parts

The work differs depending on whether the vehicle is already equipped with a Towbar or when the 
Towbar is installed at the same time.
- For vehicles already equipped with Towbar, do the step 1) to 5).
- When installing Towbar at the same time, Rear Protection Side Arms (Item 2) should be installed during 

towbar installation to avoid unnecessary rework.

1) Remove Towball Ball Mount (1) if fitted.

1

1

2



Page 5 of 10

MITSUBISHI MOTORS CORPORATION Issue: 0 - 18/03/24FIMZ350778

5) Replace the Towbar bumper support arm 
LH/RH to the Rear protection bar side arm.

Bumper support arm LH/RH 
of Towbar

Rear protection bar Side Arms

- Refer to the Towbar installation manual for 
how to install the Rear protection bar 
side arm.

- The removed Towbar bumper support arm 
LH/RH can be discarded.

4) Remove the following parts where attached on 
the rear bumper face (interior surface).

1
2
3
4

BSW-Radar LH/RH
Rear parking sensor LH/RH
Rear bumper wiring harness LH/RH
Licence plate screws

Rear bumper face (interior surface)

3
LH/RH

1
LH/RH

Rear bumper reinforcement

2 LH/RH

- Refer to workshop manual how to 
remove vehicle parts.

- The removed parts will be reuse, but the 
rear bumper face and rear bumper
reinforcement can be discarded.

Licence Plate
Screws



Page 6 of 10

MITSUBISHI MOTORS CORPORATION Issue: 0 - 18/03/24FIMZ350778

2) Remove stone guard (1) and 3 x M8x16 screws (2).

3) Remove radar support bracket (1) and 1 x M8x16
screw (2).

- Care should be taken not to damage clips on 
radar support bracket when installing radar.

B. Installation of Rear Protection Bar

1

2

1

1) Install parking sensors (1) removed from 
bumper into Rear Protection Bar bezels (4 
places).

The figure shows LH. 
RH is symmetrical.

1

2

4) Install BSW radar (1) into Radar support bracket
(2).

1 2



Page 7 of 10

MITSUBISHI MOTORS CORPORATION Issue: 0 - 18/03/24FIMZ350778

7) Prior to installing BSW radar & Radar support
bracket, connect the wiring harness (1) to the
BSW radar (2).

8) Install BSW radar (1) & Radar support bracket (2).
(Assembled in Step 4 & 7) using 1 x M8x16 screw
(3).

    Install remainder of harness (4) to parking sensors
and Rear Protection bar using harness clips.

1

5) Install the Sealing Foam A (1) by placing in
position.

6) Install the Sealing Foam B (1) by placing in
position.

1

1

- Radar support bracket holds foam in place.

2

12
3

4



Page 8 of 10

MITSUBISHI MOTORS CORPORATION Issue: 0 - 18/03/24FIMZ350778

10) Install bumper harness (1) with clips to 
mounting brackets (2). Ensuring that parking 
sensors are connected to harness.

11) When installing to pick up, harness should be
installed as shown.

1

2

9) Reinstall stone cover (1) ensuring harness is 
clipped to cover before assembly. 

    Torque M8 screws (2) to 6Nm 1

1

12) When installing to Cab Chassis, vehicle
harness (1) should be secured to mounting
bracket (2), using cable tie (3).

Cable tie should be placed through hole and
around harness.  LH only

2

Pick Up Harness Installation

Cab Chassis Harness Installation

1 2

3



Page 9 of 10

MITSUBISHI MOTORS CORPORATION Issue: 0 - 18/03/24FIMZ350778

14) Install Rear Protection Bar to mounting   
bracket (1) using 2 x M12x45 Screw (2) and 
M12 washer (3). Loosely install fasteners. 

15) Add 2mm Spacer plates (1) as required to
maintain consistent gap to tub (pick up only).

1

13) Remove Harness Clip from Harness (1). 
Wrap PVC coated harness with corrugated 
tube (2) and secure 

    with cable tie (3) 
    through hole 
    in mounting plate. 

2

2

16) Check gaps and adjust spacer plates as
required.

3

- Repeat harness installation on RH side as 
symmetrically opposite of LH as shown.

3

1

Check gap.

1



Page 10 of 10

MITSUBISHI MOTORS CORPORATION Issue: 0 - 18/03/24FIMZ350778

18) Ensure LH & RH bumper harness is 
reconnected to the vehicle side harness.

17) Install M12x45 Screw (1) and M12 washer (2).

    Torque all M12 screws to 125Nm 3 
including the towbar mounting screws.

1

- LH side shown, RH side symmetrically opposite.

2

1) Confirm all bolts are torqued as specified.
2) Install license plate using OE fasteners.
3) Confirm all electrical harnesses have been 

connected.
4) Confirm rear parking sensors operational.
5) Confirm RCTA radar calibration complete.
6)

into the vehicle glove compartment after 
towbar installation complete.

19) Re-Install Number Plate.

It is recommended to retighten all fixing points in 
accordance with prescribed tightening sequence in this 
fitting instruction after the side protection bar has been in 
use for approximately 1000km.


